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/D� LQYHVWLJDFLyQ� VH� EDVy� HQ� OD� WHPiWLFD� GH� OD� HILFLHQFLD� GH� ORV� HPSOHDGRV� � GRQGH�
IDFWRUHV�SVLFROyJLFRV�\�ODERUDOHV�FRPR�OD�MXVWLFLD�RUJDQL]DFLRQDO��LQIOX\HQ�HQ�HO�GHVHPSHxR�
ODERUDO�PHGLDQWH�HO�FRPSURPLVR�RUJDQL]DFLRQDO��/D�PHWRGRORJtD�TXH�VH�HPSOHR�IXH�GH�WLSR�
DSOLFDGD�� PpWRGR� FXDQWLWDWLYR�� QLYHO� GHVFULSWLYR�FRUUHODFLRQDO�� GLVHxR� QR� H[SHULPHQWDO� \�
FRUWH�WUDQVYHUVDO���/D�PXHVWUD�HVWXYR�FRQIRUPDGD�SRU����HPSOHDGRV�HQWUH�PLOLWDUHV�\�FLYLOHV�
GH�OD�(6)$3�GLVWULEXLGRV�HQ���HVWUDWRV��6H�HPSOHy�HO�FRHILFLHQWH�GH�FRUUHODFLyQ�GH�6SHDUPDQ��
SDUD�UHODFLRQDU� ODV�YDULDEOHV�\�GLPHQVLRQHV��6H�FRQFOX\y�HQ�TXH� OD� MXVWLFLD�RUJDQL]DFLRQDO��
HVWi�UHODFLRQDGR�VLJQLILFDWLYDPHQWH���FRQ�HO�FRPSURPLVR�RUJDQL]DFLRQDO�GH�IRUPD��SRVLWLYD�
\�GH�LQWHQVLGDG�FRQVLGHUDEOH��

3DODEUDV�FODYHV� MXVWLFLD�RUJDQL]DFLRQDO��MXVWLFLD�GH�GLVWULEXWLYD��MXVWLFLD�GH�SURFHGLPLHQWRV��
MXVWLFLD�LQWHUDFFLRQDO�\�FRPSURPLVR�RUJDQL]DFLRQDO�

$%675$&7

7KH�UHVHDUFK�ZDV�EDVHG�RQ�WKH�WKHPH�RI�HPSOR\HH�HIILFLHQF\�ZKHUH�SV\FKRORJLFDO�
DQG� ODERU� IDFWRUV� VXFK� DV� RUJDQL]DWLRQDO� MXVWLFH� LQIOXHQFH� ZRUN� SHUIRUPDQFH� WKURXJK�
RUJDQL]DWLRQDO�FRPPLWPHQW��7KH�PHWKRGRORJ\�XVHG�ZDV�DSSOLHG�W\SH��TXDQWLWDWLYH�PHWKRG��
GHVFULSWLYH�FRUUHODWLRQDO�OHYHO��QRQ�H[SHULPHQWDO�GHVLJQ�DQG�FURVV�VHFWLRQ��7KH�VDPSOH�ZDV�
PDGH�XS�RI����HPSOR\HHV�EHWZHHQ�WKH�PLOLWDU\�DQG�FLYLOLDQV�RI�WKH�(6)$3�GLVWULEXWHG�LQ���
VWUDWD��7KH�6SHDUPDQ�FRUUHODWLRQ�FRHIILFLHQW�ZDV�XVHG�WR�UHODWH�YDULDEOHV�DQG�GLPHQVLRQV��,W�
ZDV� FRQFOXGHG� WKDW� RUJDQL]DWLRQDO� MXVWLFH� LV� VLJQLILFDQWO\� UHODWHG� WR� RUJDQL]DWLRQDO�
FRPPLWPHQW�LQ�D�SRVLWLYH�ZD\�DQG�RI�FRQVLGHUDEOH�LQWHQVLW\

.H\ZRUGV� 2UJDQL]DWLRQDO� MXVWLFH�� GLVWULEXWLYH� MXVWLFH�� SURFHGXUDO� MXVWLFH��
LQWHUDFWLRQDO�MXVWLFH��DQG�RUJDQL]DWLRQDO�FRPPLWPHQW�


